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Note : Four possible choices A, B, C,D to each question are given. Which choice is correct, fifl that circle in front of that question
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Roll No. 929- §ovo New Pattern -
Statistics  (Subjective) Inter-A-2018 Inter ( Part-I1) i
Time = 2: 40 Hours Total Marks: 68 Session (2015-2017) to (2016-2018)

- Note: .It is compulsory to attempt (8 - 8 ) parts each from Q.No.2 and 3 while attempt any (6) parts from Q. No.4 and
attempt any (03) questions from Part IL.Write same Question No. and its Part No. as given in the question paper.
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Q.No.2(i) | Explain Standard Normal Variable. (i) |What are the Parameters of Normal Distribution?

(iii) }What is meant by Statistical Inference? (iv) | Define Interval Estimation.

{(v) |Differentiate between Type-1 and Type-II (vi) | Define Simple Hypothesis and Composite

Errror. : Hypothesis.
(vii) |What are the two tvpes of Computers? (viii) | Define Input and Output Devices.
(ix) |What are Points of Inflextion in Normal (x)

Write down the Theoratical Equation of Normal

Distribution? 2
Distribution for I = 16 and O = 4

(xi} |Explain Level of Significance. (xii) | Tf sz 4 for xr* N (Y 0_2] find the

value of H3 anid H4

Q.NoJ(i) | Differentiate between Parameter and Statistic. | (ii) |What is meant by Bias?

(iiiy |If two Regression Lines are (iv) | Differentiate between Sampling and Non -
X+ 3?-—5 =0 and 4X + Jy=8 =0, then Sampling Errors,
find b},x_and by

{v) Differentiate between Positive and Negative |(vi)|From given RegreSsiongLines , find " r " :
Correlation. x+2:?-—5=0, %+ Jy=-8 =0

(vii) |Define the term Coefficient of Correlation. (viii) | Define Regcssiun.

(ix) |Define Sampling Distribution. {x) | DefingStratified Random Sampling.

. . - 5
(xi)y |{What is a Scatter Diagram? xii) | S H €I 0_2 O —

find“fhe Mean and Variance for the Sampling
Distribution of Mean if Sampling is done
with replacement.

Q.No.d(i}| Define Attribute with an example. .(ii) Define Degree of Freedom.
(iii) |What is Rank Correlation? @ (iv) |What is Coefficient of Contingency?
(v} |What is Time Series? - (vi) | Give two demerits of Free Hand Curve Method.

{vii) If N =1030, (A) = 140 "B ) % 380 then |(vii)|Write two examples of Secular Trend.
find (AB) when AQand B are Independent
Attributes,

(ix) |What is Historigram?

r 1

! Section-1II |

Q.No5 (a) They heightsgof boys at a particular age follow a Normal Distribution with Mean 156 cm
and’ Standard Deviation 5 cm. Find the Probability that a boy picked at random from this
age group has height between 148cm and 158 cm. (4)
(b) In a Normal Distribution, the lower and upper quartiles are § and 18 respectively.
Find the Mean and Standard Deviation. (4)

Q.NoB (a) Draw all possible Samples of Size 2 without replacement from a population consisting of

5,8,9,12,. Construct Sampling Distribution of 2Sample Proportion of Odd Numbers in the
Sample.Show that : (i) Hp = A ) Op _ Afl-K) ( N-n ) (4)

n N-1
(b) If the size of the Simple Random Sample from an Infinite Population is 55, the Variance

of Sample Mean is 27, what must be the Standard Error of Sample Mean if n = 1657 4)

Q.No.7 (a) Find 90" Confidence Interval for "P " if 24 heads are obtained in 40 tosses of a fair coin.
"T " denotes Population Proportion. r 4)
(b)A random sample of 10 from a population give X = 20 and Sum of Squares of Deviation

from Mean is 144.Test H : Y < 19+5 against Hy; H > 19«5 wusing ol = 0:05 @

)g P.T.O.
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.No.8 (a) From the Data given below, estimate the Linear Regression of Production {Y )

on Fertilizer (X) - (4)

Fertilizer (X)) 1 2 4 S‘l

Production (Y) | 15| 14 | 13 | 12

(b) From the following Data, find the value of Correlation/Coefficient :

X s 1 2 3 4

Y 6 7 {4 &1 8 5

h)

Comment your Answer.

).No.9 (a) Test the Association between ( Two Attributes A and B from the following

data. Let o = 0,05 th)
Attj‘1butes Al . AZ
Bl 20 30
' 82 15 35

(o) Fit 2nd Degree Parabola to the following results for the years

1985 - 1995 ( both inclusive)
gx = £ =0, ixz
2"
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